
1: Express the ratio in simplest form:  $10 to $45



2: On Princess Island park the ratio of ducks to geese is 16 to 9. How many of the 300 birds are geese?


[bookmark: _GoBack]3: In a certain class, the ratio of passing grades to failing grades is 7 to 5. How many of the 36 students failed the quiz.


1 Express tho rato I simplastfom: 101345

2: On Princess Island park the ratio of ducks to geese s
16109, How many of the 300 birds are gease?

3:In:a cortain class, the raio of passing grados to
faling grados is 7o 5. How many of the 3 students
faled the quiz.




